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Al Zht (sec)
—h=400mm ———h=800mm
top 1 top 2 top 3 mid 1 mid 2 mid 3
t (sec) @ 401 415 51755315 2795 293 402 413 5175 53
a (m/sec”?2) /29R 0.460 0.163 0.482 0.234 0.363 0.192 0.233 0.110 0337 0.163
T (sec) 0.145 0.14 0.14 0.13 0.13 0.125
o 1737 0.135sec
t (sec) 28 308 4.01 4365 517 5415 279 3.015 401 4355 5175 5455
a (m/sec”2) 0.533 0.08 0.46 0.027 0477 0.056 0353 0.13 0231 0.1 0337 0.129
Z-2|H| (%) 15.09 15.03 17.04 15.9 13.33 15.283
g ZalH| 15.279%

Zt2[H| : 15.28% (ex :
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LA BHA L 063199 (= (—22)048)
T 1.42+ .28
. 642 ..
-l =077 f)
175 TEE A5 [ 26kg
' 0.6g X|ZI51= : 9.81 x 1.50 x 0.63199 x 26 = 243N
0.7g X|Z15}1= - 9.81 x (1.75 x 0.63199)(=1.11) x 26 = 284N
1.1 0.8g X| 7! : 9.81 x2.00 x 0.63319 x 26 = 325N
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